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They did not fine him by »»w — moip &Y A

OVERVIEW

The X n3 offers an additional way how we can reconcile the two nmn»92
(where they both maintain *»7 n°9»732 R?) and it will prevent us from
resolving the X"2277 X°v2 (according to the X"2wA in the previous NMdOIN).
Our mpoIn explains why indeed we cannot resolve the X"2277 X°¥2 from this
last answer and from a previous answer.

— 9353 297 VYWONY NIY XNVNT O THyan 910
And the Xn>2 (which rules” that 77m> 08 by 7°m) is discussing a case
where he extended his hand on Friday, so now we cannot resolve the query

of 322 29 since here he will never come to a nxun 2vn, therefore MoP; however by
X"227 where he will come to nXvr 211, perhaps they would permit him to be 7717 the na.

nvoIn asks:
— 99950 NY7 Y23 297 NYYa VIVO) *5193 NP NMIYN 99NN ON)

And if you will say; we can resolve the query of 5292 39 that they did not

permit him to be 7717 the no, from the first answer that was given to reconcile
the two min>92, in which we said -
— INNY MON 79 NLVNYT

That if his hand is below ten o°rov it is forbidden to return it; proving that
17°n77 89 even if it will come to a nRWIT 2.

Mmoo responds to an anticipated refutation of this proof:
— 0 YN 192971 1299N)

And even if we will establish this resolution in a case where he extended

" See 0"~mm1 2w that this is not a new Moo, but a continuation of the previous N°w2>x1 "7 'OIN.

* According to the "wamn our MooIN is referring to the Xn»12 that Mo XY w2, Seemingly we could
prove form this ruling that 7n777 17°n17 just as here we permit him to return his hand, presumably because
he is nRun 217 °7°% *nX. However, Modn negates this proof, since here we are discussing >"wan (so there is
no nXvn 21n), and since he did nothing wrong, therefore moip X?. However, by X"221 where he was 277
711n2 nd on Naw, then perhaps 17°n71 X2, for he did a MoK nwyn.

? See footnote # 5. The 2" explains that this question is on the X"aw1 in the previous n'ya'X1 7"7 ‘o,
who stated that the question of X"2277 vWwsn is (only) in a way of 1"»»; if we maintain "7 n°2733 then we
are v the X°¥2 of *"ax, and if we maintain "7 N°%17133 W7 we are bw1d the ¥°¥2 of X"237. Our MOON asks,
why is it merely a 1"n; we can be v the X°¥2 of X"127 both from the second answer (of 121 >"yan 1x2)
and from the first answer (of “» 7vn% IX3). The X°¥a of X"237 is (seemingly) definitely resolved! See
‘Thinking it over’ # 1.
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his hand %' wan, so that there can be no nxvr 21’1 and therefore it (seemingly) has no
bearing on the X"2277 X°y2; this is not so -
— NUNYN 19V D3 19907 KD 01 TIyan INY “snware NN

For I have previously explained that if they did not permit him to return

his hand >'"vwa% then certainly they did not permit him to return it 7w
for it would be a X91%vX) X211, We must therefore say that even nownwn he will not be
permitted to return his hand, even though he will be nxvr 211 >7°% °nX, so we can resolve
the X'"2277 °¥2°X that 17°nn Nz7.5

N1B0IN answers:
— VIVAY PINT Y Y

And one can say; that we cannot resolve the x"2177 x°v2 -
— NINVN 290 219D INNT 2) Y X NIIYNYN 199NN XOY NN onny

For the reason that they did not permit there in the Xn>72 for him to
return his hand if he extended it mownwn even though it will bring him to a
DNWYT 297 -

19N17 NPIN BNIYY NON N1 Y33 YaN Nt OYO 1oV RDT DY TIYAN DIVN 199N
That is because since they forbade him to return his hand if he extended it
“""ywan, where the concern of nXun 211 >7°% °nX is not applicable (and once
1t was >"ww2an MoX we have no choice but to forbid him 72wnwn; but by n7
non (where there is no compelling reason to forbid him) I can really assume
that they permitted him to be 7711 the no so that nxur 27 7% nx &2,

SUMMARY

The current answer of A2 X2 1s a case of *"¥an and it cannot resolve the
X"21277 X°v2. If we are forced to assume that moip 7ownwn [only] because
m0Ip " wan, then it does not prove that M177% 17°N7 K.

* See previous n°yox1 "7 'oIN.

> This question seemingly also applies to the current answer of 773 X1 3123 1x2. For even though that this
answer is discussing *"wan, nevertheless if 7>t is >"1w2n MOX it is certainly 7OWRwWn MOX (as MooIN states
now). We can therefore prove that 1°ni X7 even if it will come to a 72 2rn. The 9"wnn explains that
regarding 712 our MvOIN agrees with 2w2a 7"72 2"wA that by 771 there is no concern that he will drop it, so
it is not MoK *7°7 *nX. However the X"w i maintains that indeed the same question applies to the answer of
121 21 18D, and this is what n19010 meant (in his question [see footnote # 3]) VIWoN 371 XnpP XMIWH that this
question applies to this answer and also to the first answer (of " 7vn? X2).

® However from the answer of (Moip) mownwn 18D (MOIP ®Y) *"wan XD, we can resolve the X"1277 Xov2;
since there was no *"wan Mo°X there is no reason to forbid 7owWnw» unless we maintain 11°07 Y.

7 See ‘Thinking it over # 2.
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THINKING IT OVER

1. The o"77n explains that MdDIN question 1231 VWD N1 XHAP XMIWA 1S
referring to the X"2w17 w1o.®> Why then did not n»on ask this question
immediately after citing the X"2w273 w170 (in the previous mdon)? Why did
mooIn first explain the answer of vWwon R? 071wH (at the end of the previous
mMooIn and the beginning of our M201N), and then first ask this question on
the X"2w1?!”

2. moon explains that even if we prohibit 7Dwnwn (since it is also  70OX
»"yan); we cannot prove that '’n177% 107 XY because by 7own it will be a
X2120R) X0 if we are °"wan q0IR and 7ownwn 7°nn. Seemingly by the same
logic we should be n171% 70X if he put in the bread 7ownwn, since it is 710K
mTY if he put in the bread *"yan?!"!

8 See footnote # 3.

? See ™27 IR 1"72 2°NOW Phn.

10°See footnote # 7.

' See (71%77) X"waAn and 191 AR K.
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